Geography

gtereff gemaHa e vreaT W IR 7
Candidates are required to give their answers in their own words as far as practicable.

gIfa=ft 3k IR™ 4= iy 1y e gorfe fafds &vd 2 |

The figures in the right hand margin indicate full Marks.
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Instructions:
This paper consists of two sections, section-1 and section- 1. Section-1 consists of

Group-A and section Il consists of Group B and Group-C.

Section-1 X Group A of section- | has 1 to 35 Objective Type questions. In this
group all Question carry 1 mark each. Answer all questions.

Section-1l All questions of Section-11 are Non-Objective Type. Group-B of
Section-11 are Short Answer Type Questions. Answer any ten
guestions. Each question carries 2 marks. Group-C of Section-11 are
Long Answer Type Questions. Answer all 3 questions. Each

guestion carries 5 marks.
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HMT— |
Section- |
HUs—3
Group-A
(a¥gfs g¥)
(Objective Type Questions)
F=feTRad o1 61 1 | 35 § IR fdbedl § 9 ddel U Hel © | JATUh]

I HEl [Adhed Bl FT o [35 x 1=35]

There are four options from Question Nos. 1 to 35 and out of which one is correct

option. You have to choose the correct option. [35 x 1=35]

2011 @ STRIUET & AR WRT BT ol STAET &

(@) 11120 IS @) 121.01 RIS

() 318.20 TS (&) 200.01 TRIS

According to 2011 Census, the total population of India is:

(@)  111.20 Crore (b) 121.01 Crore

(c)  318.20 Crore (d)  200.01 Crore
f=forRad # F PH—T (& SRS IR 7 [HY AN & R BRI &7
(@) ™ (@) e

(M) B AR ISR (&) faars

Which one of the following factors is the main reason for male migration in India?
(@)  Business (b)  Education

(c) Work and Employment (d) Marriage

R DI SOET &6 AR F=foriRad d d9—d1 o favydr 7R &
0T BT T Tal 77

(@) ST MHR 5000 Afdadl A 3D

(@) SFEET 89 400 afad ufa aFf fharex

(1) 75 Ufaud | S STTHAEIT BT WIS TS H Hel' Bl

(@) TRurferd, | @1 B

Which one of the following is not the part of the criterion of a town as per the census

of Inaia?
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(a)  Population size of more than 5000 persons
(b)  Population density of 400 persons per sq. km.
(c)  More than 75% of the Population engaged in primary sector.

(d)  Presence of Municipality, Corporation etc.

f=foRaa & dI9— 9T BaEer T 27

(®) POl (@) =

(m s &) W8

Which one of the following is not a plantation crop?

(@)  Coffee (b)  Sugar Cane

(c)  Rubber (d  Wheat
f=ferRad # -1 ta g fharman 87?

(®) (@) =R

(m) emEe (@) 3=

Which one of the following is a tertiary activity?

(@)  Agriculture (b)  Trade

(c) Hunting (d  Weaving
Frfofaa # S—wT T f-SuaNT e T8 82

(®) o=al A (@) oft A @t qf
(m) e (@) g Irr T e
Which one of the following is not a land use category?

(a) Fallow land (b)  Culturable Waste land
(¢) Marginal land (d)  Net Area Sown
fr=forfRad § dII—dT Holl BT Th IR0 g 27
COMNSIEIR (@) <t

(M) ga (&) 9K

Which one of the following is a non-renewable source of energy?

(@  Thermal (b)  Hydel

(c) Wind (d)  Solar

FrfoIRad § SIF—1 I AT BT THRT FIH I9T IUTGD o7
(®) wERTS (@) dome

(M) dffrerrg (&) SR U2y

S
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Which one of the following State is the second largest producer of Sugar?
(@  Maharashtra (b) Punjab
(c)  Tamil Nadu (d)  Uttar Pradesh

SART el TER HHE &7 | Jad i 9N & fog S9H | el

A9} HEAYUl HRP o7
(a,—)) a,zﬁ ICEAES] (@) gRaga f[da
@ uRda—faer (&) qf Sufaw

Which one of the following is the most crucial factor for sustainable development in

Indira Gandhi Canal Command Area?

(@)  Agricultural Developement (b)  Transport Development
(c) Ecological Development (d)  Colonisation of land
fr=foaRad § -1 U Jererag Ulansi 87

CONNCH (z)  fasmemaeT

(1) sfesar (&) TR

Which one of the following is a land- locked harbour?

(@  Mumbai (b)  Vishakhapatnam
(c) Haldia (d) Ennore
TI—fTsaare & yadd HiF 5o

(@) S0 TR (@) =T

() < (&) Yeold

Who is the propounder of Neo-determinism?

(@  G. Taylor (b) Humboldt

(c) Blache (d Ratzel

gadl W fhd UBR &I ARERT 9137 SIrar 77

(@) R (@) PrsTeR

(1)  JAFATDR (&) g

What type of settlement is found on the mountains?

(@  Linear (b)  Triangular

(c) Ractangular (d) Terraced

fFrfoRad 3 9 B9 TSI & BRI Y~ B UfaHRE axal 77
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15.
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(®) 15 ¥ 59 qU (@) 15 ¥ 64 Y

(M) 15 A 65y (@) 15 |66 dy
Which one of the following age-group respresents the working population?
(@) 15to 59 years (b)  15to 64 years
(c) 15to 65 years (d) 15to 66 years
f=forRad @I serfcas @iel & UdR 87

(@) < (@) a®

(m)  aran (=) =T

Which of the following is a type of non- metallic mineral?

(@ Gold (b) Mica

(c) Copper (d)  Silver
fr=forRad 5 9 o ufdey wR$ 781 27

(@) SRISFRY (@) ST

(M) AETe— anfdie fUssaa (&) TE-uH

Which of the following is not a push factor?

(@ Unemployment (b)  Scarcity of water
(c) Socio- Economic backwardness (d)  Love for home land
fr=forRad # o9 U dol IEE HREMET 27

@) w0 (@) R

(M) TErferR (&) BRSNS
Which of the following is an oil refinery?

(@) Barauni (b)  Tarapur

(c)  Gwalior (d)  Maharajganj
fr=forRad § &9 IS TR 872

(®) TR (@) PR

(M TRER (@) R

Which of the following is a capital city?
(@  Nagpur (b)  Kanpur
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19.

20.

21.

22.

(c)  Gorakhpur (d) Raipur
STH I Udh Jaiud [BIThelld & IQT8RT &7

(@) AT (@) fafemior
(M) uRasa (&) 3mRde
Which of the following is an example of tertiary activity?

(@  Fishing (b)  Manufacturing
(c)  Transport (d)  Hunting
f=forRad & @I A SET & &= 87

@) J= (@) TR
(M @EEE CIEIGE]
Which of the following is a centre of sugar industry?

(@  Mumbai (b)  Bangalore
(c)  Coimbatore (d) Rourkela
f=faRad § dI9 Ugl— Hfdd IdGH drg 82

(@) TR (@) T

(M) FemER (&) TR
Which of the following is a petro chemical producing centre?

(a)  Tarapur (b)  Mumabi
(c) Hyderabad (d)  Bhagalpur
RrferRad 3 B9 o TR B 27

(®) =oSrTE (@) Prerepar
(M TR (@) feeeh
Which of the following is a centre of Information Technology Industry?
(@  Chandigrah (b)  Kolkata
(c) Bangalore (d)  Delhi
fr=foRad § o9 dle—3wd e & dvg o7

(@) wiiRar (@) TSRl
(1) AR CIREEINEERN

Which of the following is a centre of Iron & Steel Industy?
(@) Jharia (b)  Rourkela



(c) Raipur (d)  Birmitrapur

e a¥ YR Yol Bl YH3IT B2

(@) 1753 (@) 1851

() 1853 (&) 1857

In which year Indian Railways was introduced?

(@ 1753 (b) 1851

(c) 1853 (d) 1857

HRAR N STl &I el o Tg fdhal &7

(@) 63221 fdho #io (@) 63554 fho #io
(M) 68221 fdo #io (&) 64466 fdho #io
What is the total length of Indian Railways network?

(@ 63221 Km. (b) 63554 Km.

(c) 68221 Km. (d) 64466 Km

AR Y&l YoTlell Bl fdhat Asali | fawrfora far 8?2

(@) 9 (@) 16

(m 12 @) 18

Into how many zones the Indian Railways system has been divided?

@ 9 (b) 16

(c) 12 (d) 18
fr=forRad # &9 e A9 i & IUNH -T81 87

(@) HAHAHSD PHifd (@) e fafrear
(M e e (@) oryor IR quid
Which of the following is not an approach of Human Geography?

(@  Quantitative Revolution (b) Regional Differentiation
(c)  Spatial organization (d)  Invention and description
AT’ TR ¥ hE Tcdh Pl A5@yel HMT AT 57

(@) wiRfdd Tch (@) ¥9FEY ueH

(m  orEfas 'ew (@) 3T 9 P T

Which component is considered as important in the concept of possibilism?

(@)  Natural Component (b)  Human Component
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29.

30.

31.

32.

(c) Political Component (d  None of these
fr=forRad § @9 A9 e & Jorvd &F &7

() ey (@) arEE

() e (&) SR Fq
Which of the following are the basic area of human development?

(@)  Health (b)  Resource

(¢) Education (d)  All the above
f=AforRad § &I9 T & ASM & HAgcdYul A AR 8°

(@) faRa (@) org fava

(m W= (&) or& wEd

Which of the following human settlement is important in the Ganga plain?
(@) Dispersed (b)  Semi dispersed

(c) Compact (d  Semi Compact
PrferRad # fre gReT @ oxdl T & PR TRl ¥

(@) R (@) TR

(m e (&) e ued

Which of the following settlement pattern is important along the river?

(@  Circular (b)  Square

(c) Linear (d)  Chess Board

g SToMRT SiredT 2

@) g (@) wEh-awers

M)  dfesgR—we (&) Scel—w|+

Rhine waterways connects :

(@  England-Germany (b)  Germany-Netherland
(c) Belgium-Spain (d) Italy-Spain
fr=foRaa @ fha TR W9 E 9 Jaril S |aies 8?

(@) faooll TRIT gz (@) PloIhdl TRII FYE
(M) Tz TR e () TR TR e

Which of the following urban agglomeration has maximum migrated population?

(@  Delhi Urban Agglomeration (b)  Kolkata Urban Agglomeration



33.

34,

35.

(c) Mumbai Urban Agglomeration (d)  Bangalore Urban Agglomeration

feferRed 3§ waifte ugid < dF—3T 87

(@) e (@) MerE

(M sy (&) Ig

Which of the following is the most polluted river ?

(@ Ravi (b)  Godavari

(c) Brahmputra (d  Yamuna
fr=forRad # @i ufteddt YR & 741 IR 87

(@) e o (@) B IR
(M T IR (@) T 9k
Which of the following is the river basin of western India?

(@  Mahi Basin (b)  Kosi Basin

(c) Ganga Basin (d  Chambal Basin
=1 9 & DI Few Hecayul SC IUED & B?

(@) -HaT Seal (@) I Seel

() @ e @) A B @
Which is the most important jute producing belt?

(@) Narmada Delta (b)  Ganga Delta
() Kirishna Delta (d)  None of these

HAT-1
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Section- 11
(R—aggfrs ge)
(Non- Objective Type Questions)
YUls—q
Group-B
(crg Sia 9¥)

(Short Answer Type Questions)

fhsl 10 U1 & SR < | [10 x 2=20]

Answer any ten questions. [10 x 2=20]

I IR P IR Irsa] § 9199 AT & 79 R & ST BRI
qaTSY |

Give two reasons for low level of Human Development in most of the North Indian

States.

A STfPaT U9 fawr Sffeary # sfaR < HIfoTy |

Disitinguish between compact settlement and dispersed settlement.

qqT ¥ e fdhel a1 Ufidy SRDI B Seoid B |

Mention any two push factors related to migration.

IR AFI—fAH™ Fadidl BT ford |

Write four indicators of Human Development.

@t agye womnt wR feweft forReag?

Write note on Golden Quardrilateral Highways.

AIWDII STl T 87 AR & I MBI Holl dheal & M ford |
What is nuclear power? Mention the important nuclear power stations in India.

TRA & &I USTolIH Scared bl & 1 Ry |

Write the name of two petroleum producing centres of India.

STl UGNl Bl by & o <1 #gcaqul Gl < |

Give two important suggestions to control the water pollution.
AfeATg @ IR W ol 98 SeRT dwal & M ford |
Mention the four important centres of Cotton textile industry of Tamil Nadu.

TR & IR GHCdIR YTERTH! 9ih BT A1 ford |
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Write the name of four software technology parks of India.

ARA & IR A TR BT M ford |

Mention the name of four medieval towns of India.

YR H GRS & J&I A& DI—bl I 57

Which are the Chief means of transporation in India?

T arvoia fAerT &1 Fadedr b gRETid & |

Define the concept of Sustainable development.

q1SU e URGET @& oIt Ud 81 I fdaae HIfory |
Discuss the advantage and disadvantage of pipeline transportation.
IR AR T 87

What is International Trade?

Yis—d
Group-C
(Erd S yee)
( Long Answer Type Questions)
It N9 TS BT SN ¢ | [3 X 5=15]
Answer all the three questions. [3 x 5=15]

IR H el 97 ST & [damN &R faaRor &1 9oie @oiforg |

Describe the development and distribution of Cotton Textile Industry in India.
37eral (OR)

RO BT & AARIRIT 3R I7d FHEE HT qU HIfIY |

Discuss the problems and solution of Indian agriculture.

grIfie Ud fgdas onfdfe fear—waml § o R 27

What is the differences between the primary and the secondary economic activities?
3Mal (OR)

AT UR[ARYT 3R AMIRS UUTAT H IR BT |

Differentiate between nomadic harding and commercial live stock farming.

IR AR ¥ IRl JSAicd TGl AN & 75 BT auid D |

Describe the importance of North Atlantic Ocean Route in International Trade .

31eraT (OR)



12

TRA BT GHrIF d91hx iR &1 ygiid o

(®) fAurEUeeTH (@)
(m) oo (=)
(8) ¥ (=1)
Draw a map of India and show the following:
(@)  Vishakhapatnam (b)
(c) Panaji (d)

(e)  Surat (M

.

RESERAER

OIH] IR

Ranchi
Thiruvananthapuram

Jamnu City
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Geography Practical

A-Geo-(PR)
9y : 3 Gc¢ 15 fie YUTTd : 30
Time : 3 Hours 15 Minutes Full Marks : 30

Answer All Questions
gt gef @& SR ARy |
1- Calculate the arithmetic mean of the following data: [6]
frfaRaa sifest @ fay TR 9rea 31 omET SRy |

Student A|B |C |D|E |F G |H I |J K
faemeft
Height (Cm) 7080 (90|80 |90 100|120 | 135 |75 110|120
43 (Mo#o)

3qdl (OR)
Calculate the median value of the given data :
few v sl &1 WiAST T STa PR
20, 16, 15, 14, 12, 12, 12, 1, 8, 9, 10, 5
2- What is computer? Write important features of computer [6]

SR R 2° HFYeR &I yqE fagivarsi &1 fafay |

3- Represent a field study report on the topic prepared by you. [8]
IUs gRT dIR 6y v 8= ey g usga sifeg |
4- Prepare a questionnaire for study of the water pollution in your locality. [5]

AU A H TAA—YGHU BT I B @ oy T gEdedt dAIR
DI |
37eqAl (OR)
Explain the importance of Geographic Information system.
HANfT®d a1 Yorrell &1 Agcar 1 v SISy |

5- Record of practical works & viva-voce. [5]

Urafre ol &1 AfTAE va H@ifkgs) |
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Answer of Objective Questions

Question No.

Answer

b
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